
Figure S1: Known regulatory interactions within SOM clusters. Graph of interactions found in the GEA_CLR 
database from the UCSC Interaction Browser between two genes within a single cluster. Orange lines indicate an 
activating interaction, blue lines are repressing interaction and grey lines are unknown. 

Pattern A1 (pattern0−0)
number of genes = 59, number of connections = 134
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Pattern A2 (pattern0−1)
number of genes = 59, number of connections = 174
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Pattern A3 (pattern0−2)
number of genes = 81, number of connections = 287
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Pattern A4 (pattern0−3)
number of genes = 255, number of connections = 2704
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Pattern A5 (pattern0−4)
number of genes = 669, number of connections = 12076
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Pattern B1 (pattern1−0)
number of genes = 162, number of connections = 811
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Pattern B2 (pattern1−1)
number of genes = 0, number of connections = 0

Pattern B3 (pattern1−2)
number of genes = 0, number of connections = 0

Pattern B4 (pattern1−3)
number of genes = 7, number of connections = 6
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Pattern B5 (pattern1−4)
number of genes = 324, number of connections = 2183
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Pattern C1 (pattern2−0)
number of genes = 291, number of connections = 1727
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Pattern C2 (pattern2−1)
number of genes = 5, number of connections = 4
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Pattern C3 (pattern2−2)
number of genes = 0, number of connections = 0

Pattern C4 (pattern2−3)
number of genes = 2, number of connections = 1
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Pattern C5 (pattern2−4)
number of genes = 63, number of connections = 117
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Pattern D1 (pattern3−0)
number of genes = 301, number of connections = 2198
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Pattern D2 (pattern3−1)
number of genes = 9, number of connections = 8
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Pattern D3 (pattern3−2)
number of genes = 3, number of connections = 2
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Pattern D4 (pattern3−3)
number of genes = 0, number of connections = 0

Pattern D5 (pattern3−4)
number of genes = 13, number of connections = 14
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Pattern E1 (pattern4−0)
number of genes = 327, number of connections = 1402
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Pattern E2 (pattern4−1)
number of genes = 337, number of connections = 1542
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Pattern E3 (pattern4−2)
number of genes = 400, number of connections = 1124
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Pattern E4 (pattern4−3)
number of genes = 177, number of connections = 424
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Pattern E5 (pattern4−4)
number of genes = 29, number of connections = 48
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Figure S2: Distance between pairs of duplicated genes in the SOM. A histogram showing the distance between 
SOM clusters containing duplicate gene pairs arising from the teleost-specific genome duplication event. Distances were 
calculated using the Euclidean distance between clusters on the SOM grid. Therefore, a distance of 1 indicates that the 
two genes in the pair were in adjacent clusters, and a distance of 1.4 indicates that the two genes were in diagonally 
adjacent clusters. Any larger distances indicate that the genes were at least 2 clusters apart.  
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Click here to Download Table S1

Click here to Download Table S2

Click here to Download Table S3

Click here to Download Table S4

Click here to Download Table S5

Click here to Download Table S6

Table S1. RNAseq data and differential gene expression analysis

Table S2. SOM clustering analysis

Table S3. SOM cluster motif enrichment analysis

Table S4. SOM assignment of Nkx2.5 differentially expressed genes

Table S5. Hand-curated list of heart markers

Table S6. SOM cluster assignment of duplicated zebrafish genes
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http://www.biologists.com/DEV_Movies/DEV154146/TableS1.xlsx
http://www.biologists.com/DEV_Movies/DEV154146/TableS2.xlsx
http://www.biologists.com/DEV_Movies/DEV154146/TableS3.xlsx
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http://www.biologists.com/DEV_Movies/DEV154146/TableS5.xlsx
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